St. Thomas Convent High School, Dombivli East
| — Semester Examination ( 2023-2024)

Subject: Maths
Std: .\III Total: 50 M
Date: |2~)0~273 Time: 2 Hrs

Q.1 A) Choose the correct alternative answers for-each of the following questions

R )

2) y varies directly as x Express this statement symbolically

3 12
2(3)
/ > x byoci
a) yES o . )) ;

C) yec—x d) xec—y
3) The point of concurrence of medians of a triangle is called.
a) an incentre b) a circumcentre

¢) a centroid d) an orthocentre

4y 1If the adjacent sides of a parallelogram are 4 cm and g cm respectively. Then its perimeter is

A IGACIT b) 20 cm c) 24 cin ' ~ d) 15 cm
- B) Express the foilowing numbers in index .t'ox‘m. 3
= er;nbe_r Index form j
1) Fifth root of 13
ii) Cube root of 17
iii) Seventh root of 30
C) Observe the number line and answer the questions. i 3
Sm B E 0 ‘F & D i
< * 1 —a—r >t Se===0
& -2 =1 0 Lo 3

4" Which number is indicated by point B?

ii) - Which point indicates the numbe e" '
/x;) iuch p 1a§s enumber‘lﬂ.. l+4'

) 7 I 5 '
11i) State, whether the statement 'the point D denotes the number > is true or false.
Q.2 Solve th= following subquestions : (Any Five)

: 10
/ 1) Fxpand : (a+2)(a- 1) :

o) Compare the following numbers, (<, >
¥ . )

ho[ -4 iy [)2 ' Z\Y

5 5




M Factonse : x¥*- 10x + 9

P Q
In the figure, side PQ|| Side SR

then identify the type of

quadrilateral. If mZS =75 then mél? =72

R
Find the constant of variation and write the equation of variation.
1
D OC — Fry =15 ~ =
P 3’ Ifp=15, thenq=4
6) In the adjoining figure, each angle is shown by a letter. Fill in the boxes with the help of the figure.

Iy

€orresponding angles
) Zp and[ ]
i) Zqand[ )

i) srandi |

iv; ,_'sar;"gj _
Q.3 Solve the following subquestions. (Any Five) 10
S . .
. W"Write the rational number 3 in decimal form

] 3
A7) Expand: (-‘( +—}

P X/
\ In ALMN s an altitude and _ __ isasmedian (Write the names of appropriaie segmenis)
S L -
|
| ]
A
=
M N .

N

: ;& Draw a rectangle ABCD such that, / (AB) = 6cm and I (BC) = 4.5 cm.
-)X Factorise : 125 p* + @3

< A A = . . =~ . .
“ﬂ{ Draw a line m. Draw a line n which is parallel to iine m at a distance of 4 cm from it

Q.4 Solve the following sub-questions : (Any Four)
1) Find the cuke root of 512 '
Solution :

£

=2 x| 254
“2 %2 7]

¥ 2 %2 /2/[;{1} "
Z/,)//_f /1_';4__7_/ [TM*

J

2 %4 = (21 4)" | o \ '
N - i
L nAs12=|8



Q.

>

nd (> length of diagonal of a square with side 8 em.

3Y Simplify : (v + v)? - (x -y

4) Draw an obtuse angled AT MN. Draw its altitudes and denote the orthocéntre by O.

5) x varies inversely as y, when x = 15 then y = 10, If x = 20, then y=1?

Solve the following sub-questions : (Auy Two)

8
1) In the given figure, line p || line q. t4 &
Line 7 and line s are transversals. 400
‘ e ' >P
Find measures of £xand Zy using ‘ y :
the measures of angles givex in the figure, a b A
< >
5 700

2) Construct[_| BARC such that :
- I(BA) = I(BC) = 42 em, I(AC) = 6 em I(AR) = (CR)= 5.6 cm

3)" The total remuneration pa.d to labourers, employed to harvest soyabecn 1s in direct variation with

&l\e mumbker of labourers. If remuneration of 4 labourers is = 10860, find

the remuneraticn of 17
iabourers.
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ST. THOMAS CONVENT H!GH SCHOOL, DOMBIVALI EAST.

ST\ First Semester Exam 2023-24 Marks:20

DATE - |71~lo~ 23 Subject: Geography :

@1 Fillin the blanks: 2 —
1) ____ __ longitudes pass the suvn in 24 hours,

2) Air is said to be saturated when the air column is holding water vapour to its capacity.

3) The approrimate age of the earth is __years.
4) Remains of plants anc animals mixed with marine deposits are known as

Q.2) Match the Following: (3)
A B
1) indirect scurces of Earth’s interior  a) Utturakhand
2) Cloud Burst h) Seismic waves and volcanic - Eruptior
3) Anthropeganic ¢) Layers of sediments

dj Sewage & plastics

A 3) State whether the statements are Right or Wro: g. Correct the weong one: {2)

UT he ox=an bed is uneven and irregular,

2y Arvcan hold more mo'sture at 25-C than at 35-C.

3) The Upper Mantle is alss known as the Asthenosphere.

Q.4) Draw a neat and label'ed diagram of Earth’s Magnetosph OR (2)

Draw a r.2at and labelles! alagram of the Magnetic Pole and Equator. OR

Prepare a flow diagram on Types of Map Scale.

Q.5) Write Short Notes on {any 2) J3)
1) Local Time 2) Cumulonimbus Clout's 3} Continental Sheif

Q.6) Write distinguish br.tween: (any 1) (2)
1) Humidity and Clouds 2) AM and PM

@71 6ive geographical reasons: {any Z) (3)

\) The ghadows are the shortest at noon.

2. Ciouds float in the sky

3) The study of the ocear: floor is useful for man.

Q.8) £nswer the following questions: (any 2) (3)

1) How are the oceans important to us?
2) What are the prerequisites for condensation?
3) What is the need to use a map in today’s times?
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S1. THOMAS CONVENT HIGH SCHOUL, DOMCEIVALI (EAST)

FIRST SEMESTER EXAM 2023

SUBJECT: HISTORY & CIVICS

STO: v

Date: 14-10-23

MARKS: 30
Time: 1hr 15min

Q.1 A Fill in the blanks and compiete the sentaices:

{South Africa, Swami Vivekananda, War of independence, Mumbai}

. V.D Savarkar named the struggie of 1857 as the

(2)

i~

established the Rzmivishna Mission,
. The first session of Indian Mational Congrass was held at

e

{ 2%

4. Gandhiji began his career fram the country of

3 Hlaich the foilowing.
1. Raja Ram Mohan Roy . 2. Anzth Balikashram
2. Dayanand Saraswati b, Brahmo Samaj
3. Mahatma Phule €. Atva Samaj
4. Miaharashi Dhonda “eshav 4, Satva Shodhak Samaj

il A Answer the following guestion in one sentencs {Any 4}
1. Who fought the Crimean war?
2. What messags was civen by Swami Vivekanand to the Indian youth?
3. What did Lokmanya Tilak firmly state?
2. Which oiricer gave wrders of Hiing in the Jallianwala Baug?
5. Wheve did Gandhiii [aunch the first sztyagraha in india?
&, ¥ame the frllowing

(]

1. ivioderate leaders
2, weaders of Home Rule Mcvanent

3. Last Mughal Empercr of Delhi

. Led the revolt in Satpura

0.1 A} Answer the following guestion in 25 to 30 words {Any 2)
, What were the social causes behind the struggie of 185772
Exuiain the philosophy of Satyagraha.
3, The Pzikas made armed rebellion against the British,

4, Compizte the {cllowing diagram

[

(2)

{a)

{2

(4)




b) Give Reasons (Any 2} (4)
1. After the struggle, Indian army was divided on the basis of caste?

2. Mahatma Phule conducted a strike of Barbers.

3. The Indians bovcotted the Simon Commission.

r—
o
~

¢} Write Short-note (Any i)

+. Obiectives of the indian National Congress.
2. Ramkrishna Mission

CIVICS

11V A} Choose the rorrack option and rewrite the statement

w

{Vice-President, Five, Four, President, Prime Minister}

1. The tenure of the President is of yEars.

2. The of India is the ex-officio chairman of the Rajya Sabha

B) Answer the following guestion in one sentence: {Any 2;
1. Who has the executive power in India?

. Who led the Council of Ministers?

1. Wha is known as Member of Parliameni?

Y]

oV A) Answer tha following questions in three to four sentences (Any 1) {2}

1. Expiamn the functions of the sn=aker of Loksabha.
3. Epumerate the functions of the Council of hMinisters.
B) Give Reasons (Any 1} {2}
1. Loksabha is known as the First House.
2. Rajya Sabha is a permanent House.
Qv! Write on the following contept {Ant 1} {2)
1 jumbo Ministry 2. Pariiament




CONVENT SCHOOL, DOMBIVLI

ST.THOMAS
First Semester Examination-2023-24
Subject —Gener-! Science
Time- 2 hours Marks-50
Class = Vil
D_Q.LCM e
Instructions:

1. All Questions are compulsory.

2. Use of calculator is not allowed.

3. Figure to the right hand side indicated full marks.

a. Assessment will be done Tor the first attempted answers to McQ (Q.1.A)
oct alternative letter (A, B,C, D) only for MCQ.

Vatesda ™t - >
5. Write tae cori

S

O e e e e

Q.1.A Fill in the blanks with proper word and write the following statement. am

\X@ed upon dead and decaying organic matier, they are called as

a) parasites b) symbiotic
c) independent de)/saprophytes
Wgen that causes the disease cholerais

a! Vibrio cholara \ bYsalmonella
Zyvirus 'afshingella
3)PEnsity has Sunitas _____

agoem Gy

c) kgem 3 gigm’?

|
4 Leac acid cell, negative electrode is

2) PbO; b) Ni @) cd d) Pb

M‘an out M

1) Plague, AIDS ,Cholera, TB
2) Rocket , racing car , boat, rickshaw

Mlm noner pair aMm

ek

-

| Group “A” Group “B”

| 1. Tuberculosis a) Vibrio cholerae

| 2. Hepatitis b) Entamoeba histolytica "
3. Dysentry . 0 s ¢) Mycobacterium tuberculae

| 4. Cnolera d) Hegatitis virus A,8, C,D,E __J

Mﬂmr the following statements are True or false : 9 ,C-,

1) The atemic mass number is equal to the number of neutrcns in an atom




‘«)Altion isa homogeneous mixture of two of more substances.
& e6M

mite answer in one sentence (any 6}
W pollution?
ame two solid no” metals

ich are the different types of disaster? -
4) Whatis benefit of folding of inner membr="€ in mitochondria?

re symptoms of tuberculosis?

) Whg

)\‘/rf. the full form of AIDS
Fruits.can easily be cut with sharp knife Why dqes this happens?

8 Which is outermost shell of sodium atom?’

Wﬁnguish between: (any 1) 2

G Contactfor htl ~on-contact force.
2 wleteis anc O stals
Q.3 A} Write scieritific reasons {any 3) &M

%electrons are charge carriers.

M‘Lo/m’is electrically neutral

Mituent substances of a colloids cannot be separated by ordinary filtration.
4) All the mass of an atom is concentrated in the nucleus.

G.3 B) Write short note on:{any 2] 4t
e acid cell

2} Putherford’s atomic ynode!

3) Acid rain

~— 1 4

K.
o

Q.4 p} Answer the following. (any 3) 6M

1) What is meant by valency of an element? What is the relationship between the number
of valence electrons and valency ?

2) Expfain the term an “Alloy”
2)explain the term greenhouse effect ?

Vm‘l neat and labelled diagram: (any 1) M

1) Simple electrical circuit
2, boht’s atomic +7odel

Q.4. C ) Write the uscs of the following (any 2) M

1) Noble metals (2 uses)
\2) Dereell
Mai exercise

5h)C th :
(L/asdfv e follewing matter into 3 group (elenient ,mixture and compound) : 2M



Cement, cold drink , air, soil

Q.5 pon with the neat diagram am
Rutherford’s atomic Model. :

Q.5 C) Read the passage and identify the sentences expressing types of pollution. aM

Bhavesh is a student of std VIl and lives in a urwan area .It takes about an hour to
go to school by bus. He faces the heavy traffic of two wheelers, tt -2 wheelers, rickshaws,
buses while going to schoo\' He is facing the problems of asthama since last 2 days.'))octor
recommended him to stay away from urban area. Since then his mother sent him to the
village of his maternal uncle\de saw the heap of garbage at many places in village. Foul

smell of human and animal waste was present at many places. Blackish water with foul
smell was flowing in a streanQi_e developed scme abdominal disease vrithin few da\;)s.
/ He faces the heavy traffic ............... geing to school,
o e is facing the problem ............las. few days.
? saw the heap of garbage ............... at many places

i He developed ..........within few days.



NTENY 3 DOMBIVALE (E)
{OMAS CONVENT HIGH SCHOOL, DOI
ST THOMA L RST 5L MESTER Exam 2023-24

DATE: - $UOJECT: - COMPUTER 'ml:K . 2 ::)I;(w
CLASS: - VIl i
(10Mm)

Q1 ) Multiple Choice Question
1. Which of the following terms desc ribes

i.Node

n.unit

iii.Device
> What is a computer network that spans across a city called?

i.LAN

ii.MAN
‘ i, WAN |
3 1n which topology, the central node acts as a hub, switch or router to which all the other
nodes are connected?

(.Star

ii.Ring "

iii.Mesh
4 Which of the following is a group of related data organised in columns and rows in a
database?

I.Table

ii.Row

iii.Column
5. Which option is present on the left side of the Access window that display the names of
the objects used in the database such as Tabie, Query and Form? :

i.Navigation pane

ii.Work Area

iii.Ribbon
5. Which of the following data types is used to store a large amount of text or a combination
of text and number?

i.Text

iiAMemo

iii.Number
7. Which of the following data types is used to store currency values?

i.Money

i.Currency

i.Memo

a computer that is connected to a network?

2 Which of the following is one of the ways to create a table in MS Access?
1L.Design view

i.Form view

. Table view
L Which of the following options i used to unfreeze columns?
LUnfreeze All Fields
infreczo Fields
Adnfreeze

10, \ .
Vhich command is used to irsc a text field/column in a table?

—— —— - —




i.Number
ii.Currency
jii, Text

10M
Q 2) Write True or False. ( )

9)

Modulation is the precess of converting analog signals into digital signal. ...
Bluetooth technology uses radio frequency to transmit data from one system to another.

In Bus topology, all the nodes are connected to a single common path. ...,
A server is also known as host COMPULEE. ..vueiveseesnmmnaeisessss

MS Access is an example of the flat-file database. ....coovvvceeeeeeeiennnnn.

DBMS stands for Database Management System. ....... W il

Field name can begin with underscore ( ). ..ovvevevvvererinecnen.

We can create a table by using built-in templates. ........cccoceeeeeeereennns

10) We cannot delete a column from a table. .....cooevveevvevvevrennns

Q3) Short answer type questions. ' (10Mm)
1) What is a protocol? :
2) Mame the various components needed for a computer network, —
3) Define ciient and server. w
4) What is topoicgy™
5) What is a-database? :
€) What do you mean by flat file database?
7) Whatis the use of a form in a database?
8) Whatis MS Access?
9) Whatis primary key?
10) What do you mean by freezing a column?
G4) Long Answer Questions, (ANY 5) (10m)
1) What is a computer network? Write its advantages.
2) Descrite LAN and MAN.
3) Y:;iatms a relational database? Give ap example of a relational database management
4) Write any three advantages of a database system.,
5] Explain the types of views in a database.
6) Write the steps to freeze 3 column in a table.
7) Write the steps tc add a ne

w column in a table. any two features of Scratch.





{ "type": "Form", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Form", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Form", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Form", "isBackSide": false }


{ "type": "Form", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Form", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Form", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }

